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Question ID:- 1

The course of development of children is :
(1) Uniform and orderly

(2) Uniform and disorderly
(3) Individualistic and sequential
(4) Individualistic and disorderly

T % faerr 1 uferan e Yo =1 2t §72
(1) THIAA IR FAFER

(2) THEFA 3R et

(3) A & FHHFER

(4) =AfRET g TeHafEed

Options:-

.1, Option ID :- 1,

. 2, Option ID :- 2,

. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 3, Option ID : -3

Question ID:- 2

Theorists now prefer to refer to certain periods as “sensitive periods’ rather than ‘critical
periods’ in recognition that :
(1) Development is dynamic in nature

(2) Development is determined by heredity only
(3) Development is determined by environment only
(4) Development is fixed and static
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Options:-

.1, Option ID :- 5,

. 2, Option ID :- 6,

. 3, Option ID :- 7,

. 4, Option ID :- 8,

Answer Given:- 1, Option ID : -5

Question ID:- 3

Naresh and Mukesh are in the same age group yet they show differences in social and
cognitive development. It is due to which of the following ?

(1) Cephalocaudal Principle

(2) Proximodistal Principle

(3) Principle of Individual differences
(4) Principle of Uniformity

T 3R G IH H T TG €, ARKA a1 o HFHCHE 3 FETS [ § A 8 ) 78 e
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Options:-
.1, Option ID :- 9,

. 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

Answer Given:-

10,
11,
12,

3, OptionID : -11

Question ID:- 4




Assertion (A) : Delay in achievement of developmental milestone by children can be
directly attributed to heredity.

Reason (R) : Environmental factors do not play any role in development.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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(3) (A)Wél & @fd (R) TTerd 1

(4) (A) @ (R) SHT e B

Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 4, Option ID : -16

Question ID:- 5

Socialisation of children is :

(1) A simple and linear process.

(2) An orderly and well laid out process

(3) Is a complex and multidimensional process.
(4) A fixed and static process
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Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6

At which stage of cognitive development do children develop the abilities of inference
and abstract logic ?

(1) Sensori-motor

(2) Pre-operational
(3) Concrete operational
(4) Formal operational
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(1) Hadl =T

(2) vd HiRaeTs

(3) T diRar®

(4) A=l wiskaras
Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

In Jean Piaget’s theory is said to occur when the child modifies the existing
schemas to account for a new experience.

(1) Accommodation
(2)
(3) Metacognition
(4) Scaffolding

Orga nizaton
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(1)  HHESH

(2) HeHA

(3) sfvEaE

(4) Hg
Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
« 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

In Jean Piaget's theory, egocentricism refers to :

(1) the ability to consider more than one aspect of the situation at a time.
2)  the tendency to organize thinking processes into psychological structures.
3) the use of existing schemas to make sense of the world.

)

(
(4) the tendency to see the world and the experiences of others from one’s own viewpoint.
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Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
« 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Question ID:- 9




As per Lev Vygotsky, plays a very important role in cognitive development.

(1) conditioning
(2) reinforcement
(3) cultural context
(4) schema
ofel SANICHeh! o SAJUN, o ST T H HEeyYl AreH B
(1) oTgaeA
(2) e
(3) Hiwpfaw itew
(4) R
Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10

A classroom built on Vygotskian principles would promote :
(1) recitation and recall.

(2) collaborative learning.
(3) wuse of rewards and punishment.
(4) conditioning of responses.
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(1) =L 9IS F ©A Fl

(2) HEENTHE HiET F
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(4) wiAfEIS & STHEEA =
Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38
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(2)
(3)
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Question ID:- 11

How many stages of moral development does Lawhrence Kohlberg propose in his

theory ?
(1) 6
(2) 7
(3) 5
(4) 4

ARG FEdar 5 394 Tagia § Afaw famm & e = yfamfed fou €2

6
7
5
4

Options:-

.1, Option ID :- 41,
. 2, Option ID :- 42,
. 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 1, Option ID : -41

(1)
(2)
(3)
(4)

Question ID:- 12

At which stage of Kohlberg's moral development do individuals believe that fixed rules
must be obeyed in order to maintain the social order ?

Instrumental purpose orientation
Punishment and obedience orientation
Law and order orientation

Good boy-good girl orientation

IcTeR] o Afder o™ & forg =00 § Safeadi &1 °FA1 © T amiferes saawen &6l 997 W@ o fag

Tfysa fadi =1 aem foean s =nfen ?
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Options:-
.1, Option ID :- 45,




« 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13

Dancers, athletes and actors possess high as per Howard Gardner’s theory.
(I) Spatial intelligence

(2) Linguistic intelligence

(3) Bodily-Kinaesthetic intelligence

(4)

4) Intrapersonal intelligence

T MR % Fagid % orER T, e SR sfsi % e e iy o 3 2
(1) = dfg

(2) s 9

(3) wHifEm-f-deeas 9fg
(4) SfquefFds dgfaa
Options:-

.1, Option ID :- 49,

« 2, Option ID :- 50,

» 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

A teacher’s remark to boys in a co-education class - “Be a man and don’t behave like girls’
would encourage :

(1) Gender equity

(2) Gender stereotyping
(3) Gender role flexibility
(4)

4)  Gender equality
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(1) Siet gamEa

(2) et Bigasa
(3)  SieX e | e
(4) Siet gyl

Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

Which of the following statements about assessment of children is correct ?
(1) Primary purpose of assessment is comparison.
2

(2)
(3) Assessment should be carried out using a variety of means.
(4)

Primary purpose of assessment is to generate anxiety and fear.

Assessment should not include self- assessment by children.
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(1) g = Wi 35evd qor 2|

(2) ERe 1 WiAfHeR 3g3d ol 3R Y& 391 T §1
(3) TeFiw fafia= Tl i SuE ek fRan s =nfan |
(4) TeHFEA H o= g W- T WiHd TE e =1fe |
Options:-

.1, Option ID :- 57,

. 2, Option ID :- 58,

. 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 3, Option ID : -59

Question ID:- 16




Which of the following do NOT follow the spirit of inclusive education ?
(1) Differentiated instruction

(2)  Universal design for Leaming
(3) Labelling and Segregation
(4) Collaborative learning

frefafed § 9 SF 9HE f1en it e 1 e T8l R g ?

(1) Taufea Few
(2) HiEA % forg A fesre
(3)  JERTRTO SHR ATHIEHT
(4) wEART! TG
Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
« 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17

In a class with students having students from disadvantaged backgrounds whose
experiences should a teacher allow to be shared ?

(1) Discourage everyone from bringing their experiences to the class.

(2) Encourage only children from dominant groups to share their experiences.

(3) Encourage only children from disadvantaged groups to share their experiences.
(4) Share her own experiences and encourage all children to share their experiences.
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Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
. 3, Option ID :- 67,




« 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

access and barrier free environment that includes provisions such as :

(1)  Wheel chairs

(1) Walker

(i) Ramps with hand-rails
(iv) Embossed tiles

(v) Braille systems

(1) (), (i), (iii)

(2) (@) (i), (iv)

(3) (), (i), (iv)

(4) (1), (i), (1), (iv), (v)

=t gfawu ygm we =ifen faad F=fafas weaym wite @ .
(i) i FHi/=e =998

(i) =R

(i) TS—¥A F TA Y
(iv) SHU EC 2R

(v) e gomedt

(1) (@), (i), (i)

(2) (@) (i), (iv)

(3) (i), (i), (iv)

(4) (@) (1), (i), (@v), (v)

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

In order to accommodate a student with locomotor disabilites schools should facilitate

ST Tfdek fashetiar | S[Erd =13 sl SIS & o T @hel s 9g= S S gk araerol

Question ID:- 19




Which of the following are typical identifying characteristics of student with learning
disability ?

(1)  Omits words or lines in readings; makes mistakes in spellings
2

(2) Cannot see things after a distance of 2 feet
(3) Perform the same motor action repeatedly
(4)

4 Cannot hear sounds of 70 dB

Frefated & & ®F € Ifer stemd | g e 26w fafre vgem fagman g2
(1) gq o yreei o e o o 54 & o=t o Terd id €

(2) DERF G F RIS T W TH |
(3) T & Tk foRe 1 R-9R A ¥
(4) 70 dB %1 TETS &l G Fhd |
Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20

Which of the following statements about gifted children is correct ?
(1) Gifted children do not require any pedagogical modifications.

(2) Gifted children should be given very simple routine tasks to be performed repeatedly.
(3) Gifted children have very high emotional maturity.
(

4)  Gifted children have specific learning needs that often get ignored in the classrooms.
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Options:-

.1, Option ID :- 77,

« 2, Option ID :- 78,

. 3, Option ID :- 79,




« 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Question ID:- 21

Active engagement of students in a middle classroom should be promoted by :

1) Offering positive and negative reinforcement

(

(2) DPassive listening

(3) Reinforcing competition

(4) The processes of enquiry and questioning

AT HENS] H B & Hishd YRNGRT il T TR e[l foa1 Sl =1ey ?
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(3)  fcEfir = seEr ST
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Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

« 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84

Question ID:- 22

Assertion (A) : Pedagogical processes of dialogue and discussion amongst peers hinders
development of problem-solving abilities.

Reason (R) : Learning is a process that is individualistic in nature and not social in
character.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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(1) (A) 3R (R) SH T& 7 &R (A) #1 (R) T&! &A1 &3l & |

(2) (A) 3R (R) SHT T & AfFT (A) Tl (R) T =0 T8 w3 g
(3) (A) W@ & @fR (R) Ted €

(4) (A) 3R (R) i Tord €

Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
« 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23

What kind of goa]s should a teacher encourage her students to set ?
(1) Mastery-oriented

(2) Performance oriented
(3) Failure accepting
(4) Failure avoiding

T e o1 oo famnfelai =1 forg vor & @isg FuiiRa e & foau gieafed s =few ?
(1) ¥erd 3HE

(2) TR G
(3) Tamreran = e =
(4) STHHAD W g9 90l

Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 1, Option ID : -89

Question ID:- 24




One’s beliefs have an important influence on one’s learning. Which belief would have a
positive influence on learning ?

(1) Iam not born with any abilities

(2) Teachers always make difficult question papers

(3) Getting good or bad marks depends on your efforts
(4)

4 I have never got good marks in geography and I never will even if | try.
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Options:-

.1, Option ID :- 93,

« 2, Option ID :- 94,

. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 3, Option ID : -95

Question ID:- 25

Constructivism as a theory :

(1) Emphasises the role of the learner in constructing his own view of the world
2) Emphasises on memorising information and testing through recall

(2)
(3) Emphasises on the dominant role of the teacher
(4)

4)  Focuses on the role of passive imitation in learning

HEAETE 1 fHgid -

(1) #tEq H stfepmeeral 1 e =i gecyel T ¢ fred o S9r & ) § g8 &l 998 99
gl

(2) SIFERRT o TR0 o S YOIRAT Thi T T SR oA ¥ |

(3) Toferer =t vya gfe SR @2

(4) Tofsra ergerror =t arform & e | SR @ &

Options:-
.1, Option ID :- 97,




« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97

Question ID:- 26

Children construct further knowledge on the basis of :
(1) what is irrelevant for them.

(2) what is already understood by them.

(3) whatis completely alien to them.

(4) what is much beyond their cognitive levels.

g 1 § 9 fohg MR o o1t 9 & e &6 § 7
(1) < 3 T smmsfies 21

(2) Sl =% 9 ¥ 9 B |

(3) S 3k forg s €

(4) S 3T AAHE HHAHS TR Y 9gd W
Options:-

.1, Option ID :- 101,

. 2, Option ID :- 102,

. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

[P
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(1) o HaT ! ufshard ueh go & T §

(2) HSM 9 T U gE Y U gU € 9 UhgE i yuifad R € |
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Options:-

.1, Option ID :- 105,

« 2, Option ID :- 106,

. 3, Option ID :- 107,

. 4, Option ID :- 108,




Answer Given:- 2, Option ID : -106

Question ID:- 28

Meaningful learning of students is NOT promoted by encouraging children for :
(1) Exploration and experimentation

(2) Developing Metacognitive capabilities
(3) Discussion and debate
(4) DPassive listening

o1 Siferes gonfai g = | el ST Rl gredTfed el fohan <7 Sehar 2

(1) 3T=Hur 3iR 949
(2) AfHFEHF Sl 1 o
(3) == AR TEY
(4) Tafsra g & s
Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29

A constructivist approach for dealing with ‘misconceptions among middle school students
18

(1) to completely ignore them.

(2) to assign lot of content for passive memorization,

(3) to punish the students.

(4) give opportunities for discussing counter perspectives.

farenfefi gra ffda sl =1 froes & forg e gfesm @ gemE <ar @2

(1) % @ A =R

(2) 3% ffera @A & fog sga | foaweas < =fe
(3) femnfei=i =1 wsn <A1 =nfen )

(4)  wifi & Yoo &g =91 %1 Hish Hedl FHEr =fed |
Options:-

.1, Option ID :- 113,

« 2, Option ID :- 114,




« 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 4, OptionID : -116

Question ID:- 30

Assertion (A) : Schools should not involve parents in any manner in education of their
children.

Reason (R) : Establishing links of the school with the community hinders meaningful
learning for students.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) Both (A) and (R) are false.

HUT (A) : TRl A1 1 fordt ot T8 | 37k sl bl e J e 81 e =Jfeu |
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(1) (A) 3R (R) SFT T&T & 20X (A) = (R) HEl =T e & |

(2) (A) 3R (R) T T&T € T (A) Tl (R) el AR el T ¢ |
(3) (A) W&l T @ (R) 7@
(4) (A) 3R (R) ST 7T B

Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

Subject : SS_P2_CTET

Question ID:- 91

The term Prathama- Kulika in the Gupta period stands for :
(1)  Chief Judicial Officer

(2) Chief Banker

(3) Chief Merchant

(4) Chief Craftsman
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(2) H=I dH

(3) H=A AR

(4) YeA e
Options:-

.1, Option ID :- 361,
. 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 3, Option ID : -363

Question ID:- 92

Where was the birch bark found on which hymns of the Rig Veda were written ?
(1) Kashmir

(2) Maharashtra
(3) Bengal
(4) Bihar

1 9S (=) BIA Fal e TS o W AT i Al WA () Fordi 7 ?

(1) &R
(2) HeRE
(3) @
(4) feBR
Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
» 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93




Which one of the following Tamil works informs us about the lives of ordinary men and
women ?

(1) Silappathikaram

(2) Valayapathi
(3) Manimegalai
(4) Periyapuranam

Fereerfiaa # @ % 0 afre H 2 o TEu sk Afenel % e & A H e ww

(1) Teremonfess

(2) FArd

(3) wfmyser

(4) O
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

- 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94

Which of the following is not matched correctly ?

(1) Khajuraho - Chandellas
(2) Aihole - Chalukyas
(3) Kanchipuram - Pallavas
(4) Mahabalipuram - Cholas
Freferfad | | & At 781 @ @1 E 2

(1) TSRl - =<

(2) T - =g

(3) eHEH - T8

(4) TR - =

Options:-

.1, Option ID :- 373,
. 2, Option ID :- 374,
. 3, Option ID :- 375,
. 4, Option ID :- 376,




Answer Given:- 4, Option ID : -376

Question ID:- 95

Consider the following statements :

(I) Tawarikh was written by learned men in Urdu

(II) The writer of Tawarikh used to live in urban areas

(III) They often wrote their histories for Sultans in the hope of rich rewards
Which of the statement(s) is/are correct ?

(1) Both (I) and (II)

(2) Both (II) and (III)

(3) Both (I) and (III)

(4) Only ()

TefafEa syl 9 fagr St

() deriE =1 gierfea =afeal g 3 H foran T i

(II) TaRE & o@s TR § W©d 91

() o 9/ &0 3faer™ gear| & fore, 378 T H TR O =i 319§ foran i 9
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(1) (1) T (1) <A

(2) () iR () &
3) (1) 3R ()
(4) e ()
Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 3, Option ID : -379

Question ID:- 96

Which one of the following compositions are not compiled by Surdas ?
(1) Sursagar

(2) Surasaravali

(3) Sahitya Ratna

(4)

4) Sahitya Lahari




Frefafas § 9 SF 9 T gL 510 Hehford & € 7

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 3, Option ID : -383

Question ID:- 97

Consider the following statements (A) and (R) and choose the correct answer.

Assertion (A) : Through the 18th century, the Mughal empire gradually fragmented into
a number of independent regional states.

Reason (R) : With the decline of the Mughal emperers, the governers of large provinces,
subadars and the great zamindars consolidated their authority in
different parts of the Indian sub continent.

Choose the correct option :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false

Frefafad sem qen R g1 foam 8 9o 98 fasey 99 |

HYT (A) 18 VRSl % SRH, TS HHRa -+ e e, &g e o o

WHROT (R) : T TURI ol T F T & W, HE Wil o GoIgri 3R 92 STHIGR 3 W
IyreTEIY % fafis fewdi § oot ot @R waer s

ﬁﬂﬁﬁﬂe{

(1)  (A) &R (R) <M1 T& ¥ iR (R) & =T/ 3 € (A) & |

(2) (A) @R (R) ST T& & AfFT (R) 9E =men @ w4 ® (A) F

(3) (A) WEl & & (R) o 7

(4) (A) 3R (R) 2 Ted B

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,




« 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385

Question ID:- 98

In which region landowners were known as Vellalars ?

(I) Maharashtra region
(2) Tamil region
(3) Punjab region
(4) Bengal region
forg &3 § santaal ol See el S o ?
(1) R &
(2) dfFa &=
(3) T &
(4) =S AT
Options:-

.1, Option ID :- 389,
. 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 2, Option ID : -390

Question ID:- 99

Read the statements (A) and (B) and choose the correct answer :

(A) People such as Raja Ram Mohun Roy are described as reformers because they felt
that changes were necessary in society.

(B) The reformers thought that the best way to ensure such changes was by persuading
people to give up old practices and adopt a new way of life.

(1)  (A) is true but (B) is false
(2) (A) is false but (B) is true
(3) Both (A) & (B) are true
(4) Both (A) & (B) are false




I (A) TN (B) %1 ¢ TS Hel I HT FAE A |

(A) : T UHEEA T S @ GHRE SO el S § i 3 7hd 9 fE Ee |
aftads &M R STyl di-adeR I gedr g SiEd 2

(B) :  HuWH I fo=R o T 30 @@ & uiads @F & fom @l =1 59 5a & g gfa
feran ST =nfee foh & QU SIaER h1 BISHT St o1 741 @71 79 o ford T & |

(1) (A) T&I 2 fg (B) 7o |
2) (A) Tem & fRg (B) WE
(3) @l (A) TH (B) FEl €
(4) @Fl (A) TF (B) T © |
Options:-

.1, Option ID :- 393,
. 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 3, Option ID : -395

Question ID:- 100

Veda Samaj established in the erstwhile Madras (Chennai) was inspired by :
(1) Prarthana Samaj

(2) Arya Samaj

(3) Brahmo Samaj

(4) Young Bengal Movement

T4 HeTd (Je%) | wfid 9 Jee g o
(1) W1 991 g
2)  SEHHS gR

(
(3) HRHHNS GHI
(4) A ST SigH gRI
Options:-
.1, Option ID :- 397,
. 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Question ID:- 101




Read the following statements (A) and (R) and choose the appropriate option.

Assertion (A) : E.V. Ramaswamy Naicker or Periyar was critical of Hindu scriptures
such as Codes of Manu, Bhagavad Gita and the Ramayana

Reason (R) : Periyar viewed that these texts were used to establish authority of upper
castes over lower castes and domination of men over women

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

Tr=fafad sweFl (A) 991 (R) 1 9feT AR 39w fasheq 1 997 &ifag -

WY (A) Sl THEET TEe SR UER vy e, e wiar ST aHE S e %
FreT= 9 |

®NOT(R) :  UfER T <@ e 3 vy e sfadi o 3o 3= sifaal of afeensti & S el
1 e i & & ol 3uam § @ S €

Fﬂﬁﬁq_ﬂgﬁ

(1) (A) 3R (R) 3 W2l & 3iX (A) =1 (R) WEl A& @1 8

2) (A) 3R (R) ST W& ¥ WfehA (A) &I (R) Tl A& &1 o |

3)  (A) HE € @ (R) 7Terd B

4)  (A) @R (R) SHi Tord §1

(
(
(

Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

Which Governor General pronounced that Bahadur Shah Zafar would be the last Mughal
king ?

(1) Canning

(2) Dalhousie

(3) Hardinge

(4) Elgin




TR TR STRet = =IO ot off foh SrRigt wiE ST Sifam Hqerer T a2

(1) &7

(2) SRS

(3) =fen

(4) e (Elgin)
Options:-

.1, Option ID :- 405,
. 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

In which of the following languages ‘Kesari’ newspaper was published ?

(1) English
(2) Bengali
(3) Marathi
(4) Urdu

Fefafeg 9 forg 9o 5 9’ sTEer 394r o ?

(1) oSt
(2) @R
(3) wEl
(4 =
Options:-

.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104




From which of the following Acts, a large number of provisions have been adopted by the
Indian Constitution ?

(1) 1909 Act

(2) 1919 Act

(3) 1935 Act
)

(4) India Independence Act 1947

Frefafaa § 9 fof tae 9 arda dfaem g s den 5 gy foe e E2
(1) 1909 T
(2) 1919 TE
(3) 1935 TH
(4) Y T sfufem - 1947

[B]

Options:-

.1, Option ID :- 413,
. 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

Which of the following is not matched correctly?

Planet No. of moons
(1) Mars 02
(2) Jupiter 53
(3) Uranus 52
(4) Neptune 13
e o e gifed T 8 2

PH TSl hi HEAT
(1) = - 02
(2) FeEfd S
3 IT® - 52
(4) o= - 13

Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,




. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

Read the following statements (A) and (R) and choose the appropriate option given
below :

Assertion (A) : The areas lying between the Arctic Circle and the North Pole are very

cold.

Reason (R) : The sun rays are always slanting and provide less heat.

Choose the correct option.

(D)
(2)
(3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not correct explanation of (A)
(A) is true but (R) is false
(A) is false but (R) is true

Trefefad Ul (A) 991 (R) 1 iU q21 399w faehed 1 =47 it |
WY (A) : T Y g9 AR I ya F =9 F &7 § 9gd 3¢ @l £
THIUT (R) : G4 1 Foreol eiem foeest St € ofw &9 2o et 21
Fﬁﬁmﬂﬁ

(1)
(2)
(3)
(4)

(A) 3R (R) i Tl € 3R (R), (A) =1 T& &0 T

(A) 3T (R) SFi T& € @fs (R), (A) 1 T =me 76 &
(A) F& & 9% (R) Teid B 1

(A) T § T (R) HE T

Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107

Sun rises in the east because :

(1)
(2)
(3)
(4)

Earth rotates from east to west
Earth rotates from west to east
Earth is tilted on its axis

Earth rotation takes 24 hours




U4 g4 H 324 T § Hifep :
(1) 92ait g ¥ ufe=m & SR =t @l 2|

(2) gt ufvem | gd &t SR 9 @ 6
(3) YT 19 & G R g 2

(4) 9eET 1 FER 24 T TAL

Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108

The opening time of Central Government offices in India is 9 : 00 a.m. IST. What will be
the local time of opening of the Central Government offices located at 76°45" East Longitude
near Chandigarh and 88°15" East Longitude near Kolkatta, respectively ?

(1) 08:37 am. and 09 : 37 a.m. respectively
(2) 09:37 am. and 08 : 37 a.m. respectively
(3) 09:23 am. and 08 : 37 a.m. respectively
(4)

4) 08 :37 am. and 09 : 23 a.m. respectively

Id H Fad Rl SEfadi & Ga- &l 999 Jdie 9 &6 (YR 9HE 999) 2| 9207 o ud
76°45' T, TAL T 2T FHeAw o IH 88°15' U, T FwEY: R from Fg wER F FEierd &
Yo 1 T 99 #4102

(1) 08:37 Yaig 3R 09 : 37 aE HH:

(2) 09:37 JaiE 3R 08 : 37 Ydig Ha:

(3) 09:23 Yalg iR 08 : 37 YaiE HIM:

(4) 08:37 galg 2R 09 : 23 YAz FHA:

Options:-

.1, Option ID :- 429,
. 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109




Deccan plateau is bordered by which physical feature in its western side ?
(1) Satpura ranges

(2) Vindhya ranges

(3) Sahyadri

(4) Nilgiris

T YSR T U=t 9 W) e = ofifoes et | Sjer gen ® 2

(1) Hagst 4o

(2) o= goit

(3) weEfs

(4) Aaf
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

Match the following columns and choose the correct option.

Column - | Column - II
(a) Marble (i) Sedimentary rocks
(b) Sandstone (i) Fossils Fuels
(c) Coal (i) Igneous rocks
(d) Granite (iv) Metamorphic rocks
Options :
(1) (@), (b)-(), (0)-(ii), (d)-(i)
(2)  (a)-Gi), (b)-Gii), (0)-(iv), (d)-()
(3)  (@-), B)-(iv), (O)-(id), (d)-(i)
(4)  (@)Gii), (b)-(ii), (©)-(0), (d)-(iv)




Taem =1 3R 3fEa fasreg =1 =9 Fifsu )

HAd - [ A - 11
(a) WTHTR @) erEEEl e
(b) 3T T (i) SftarH g
(c) =hrFem (ili) SAFAAA
(d) TAEE (iv) =Efaia e
ICETZ
(1)  (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
(2) (a)-(i), (b)-(iii), (c)-(iv), (d)-(1)
(3)  (a)-(), (b)-(iv), (c)-(iii), (d)-(ii)
(4) (a)-(ii1), (b)-(ii), (c)-(i), (d)-(iv)
Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,
. 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111

Consider the following pairs :

Land Forms Agents
(a) Levees - Wind
(b) Stacks - Sea waves
(c) Mushroom Rocks - River
(d) Moraines - Glaciars

Which of the following options is correct ?

(1) Only (a) and (b)
(2) Only (b) and (¢)
(3)  Only (b) and (d)
(4) Only (a) and (d)




el ¥ 9 Ycoh
(a) TEEY - e
(b) TH - ggEt @
) &FFIJa - A&
(d) fedie - fewe
Spde i e g w2
(1) de () @R (b)
(2) e (b) ¥R (o)
(3) had (b) ¥R (d)
(4) FF9 (a) 3R (d)
Options:-

.1, Option ID :- 441,
. 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112

The climate of Ladakh is extremely cold and dry. Which of the following factors is
responsible for it ?

(1) Latitude

(2) Altitude
(3) Pressure and winds
(4) Distance from the sea

TEENE i STy i e o gk § 1 e § 9 i W R 39 foe Saier § 2

(1) 7w

(2)

() I T
(4 wIE 9 gl
Options:-

.1, Option ID :- 445,
. 2, Option ID :- 446,
. 3, Option ID :- 447,
. 4, Option ID :- 448,




Answer Given:- 1, Option ID : -445

Question ID:- 113

Read the Statements (A) and (R) and choose the correct option.

Assertion (A) : The air is cold in areas having lower temperature.

Reason (R) : Air is heavy in cold areas.

(1) Both these statements (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both these statements (A) and (R) are true but (R) is not the correct explanation of
(A).

(3) (A)is true (R) is false

(4) Both (A) and (R) are false

fre=fafaa sweml (A) 91 (R) &1 9€ 991 98 faehed &1 =997 Fifed |
YT (A) : FHH TUEE 91t & H arg 3 B 7

HTOT (R) : 3¢ &6 5 arg 9/l 2t |

faereT :

(1) (A) 3R (R) 3 W& € 2fR (R), (A) = T&l e 7 |
(2) (A) & (R) T T € @fEFA (R), (A) F T& =0 76 T
(3) (A) HEl 8 9% (R) T €|

(4) (A) T (R) SHI e 2 |

Options:-

.1, Option ID :- 449,

. 2, Option ID :- 450,

. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

Which of the following is not an example of mass media ?
(1) Newspapers

(2) Radio

(3) Cellular phones
(4)

Television




Trefafad § 9 9 91 SETd 91899 1SS A8l & 7

(1) HH=R 9=
(2) e
(3) HgAL BH
(4) eifasH
Options:-

.1, Option ID :- 453,
. 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115

Where we do not find Mediterranean type of vegetation ?

(1) Around the Mediterranean sea in Europe, Africa and Asia
(2) California in the United states of America

(3) South West Africa

(4) South East Africa

YREAHFRI Yeh i aeafd el el urs Sl © 2

(1) 09, % Td TR % YAETEIR & |99 et ge9i H
(2) HgH TA AU o HiaAwIfHa

(3) cfau-ufeaHt spl

(4) =fgu-gdi sk

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
« 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 116




Consider the following resources :

(A) Mica

(B) Forest

(C) Natural Gas

(D) Seil

(E) Water

Which of the above are examples of renewable resource ?
(1) Only (A), (B) & ()

(2 Only (B), (C) & (D)
(3)  Only (B), (D) & (E)
(4)  Only (B), (C) & (E)

-
4 F ﬂ%‘%
:

Iy § & w8 wsfae daren el g9 F IR R 2

(1) = (A), (B) &R ()
(2) Fad (B), (C) ¥R (D)
(3) Fad (B), (D) ¥R (E)
(4) e (B), (C) A (E)
Options:-

.1, Option ID :- 461,
. 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117




Which factors play a major role in the formation of soil ?
(A) Parent rock

(B) Topography
(C) Climatic factors

(D) Time
Options :
(1) Only (A)

(2)  Only (B) and (C)
(3)  Only (D)
(4) Only (A) and (C)

72l & fat=/Ted | hid § &k e et 9 § 2

(A) o& FgH
(B) TEIHId

(C) Tiorarg Hadt HRh
(D) &9

faeeya ;

(1) 9 (A)

(2) had (B) 91 (C)
(3) Fad (D)

(

4) HEA (A) 79 (C)

Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467

Question ID:- 118

Debt trap in rural areas mainly illustrates the exploitative relationship between
(1) Moneylenders and small farmers
2

)
3) Agricultural landless labourers and village cooperatives
4)

( Small farmers and agricultural labourers
(
(

Village cooperatives and moneylenders




et o1 ST UTHIT TR | TEAT: % =T T IMTURRRT S ol Tl 7|

(1) UEFR iR B fFam
(2) ®ie fram iR Sdiel el
(3) R Wefigt Haisht Weigy 2R UTH Feahta
(4)  TTH HERINET 37 HEFR
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

Read the statements (A) and (R) and choose the appropriate option.

Assertion (A) : In a democracy, an independent media is important

Reason (R) : Information available through media should be reliable and not biased
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

freiferfian et (A) o (R) 1 ufey qo 3 fased &1 = i)
APUHAT (A) :  Wiaa d, T g qreAn (Hiftedn) qeweyge #

HRT (R) : HaR Ay (Hifean € g g faveny g T =1 foF gamay |
(1) (A) 3R (R) < T2 § 920 (R), (A) T 9&l = B |

(2)  (A) 3T (R) SH T 2 <l (R), (A) 1 HE =0 = e

(3) (A) ¥l 8 9% (R) 7Ieid &

(4) SHT (A) 91 (R) T €

Pl

2

Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120




In India, the government works at

(A) Ward level

(B) State level

(C) National level

(D) Regional level

Which of the following option is correct ?

(1) (A) & (B)

(2 (B)&(©

(3) ©&(D

4 A)&C

YT § TR 9 HLl |
(A) @18 W

(B) T &R

(©) T &R

(D) &g =1

Trerferfeaa o 9 s fasey 98 82
(1) (A) ¥ (B)

(2) (B) ¥R (C)

(3) (C) ¥R (D)

(4) (A) 3R (C)

Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Question ID:- 121

Who acts as a panchayat president ?
(1) The Secretary of the Gram Sabha
(2) Block Development Officer

(3) Omne ward member elected by other ward members
(4)

4 Ward members by rotation




B GTE I T FH FAT & ?

(1) 319 997 61 Hi=a

(2) we fawm AR

(3) o AIE WeEl g HAMA (A1 ) Th ATE WeEH
(4) -9 9 a9 "
Options:-

.1, Option ID :- 481,
. 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122

What is a labour chowk ?

(1) A place where bonded labour system is praticed
2

(2) A place where labourers are sold
(3) A place where daily wage labourers assemble in search of work
(4)

4) A place where labourers are given night shelters

e de ! TR Ed €2

(1) Tt <778 ST sl =1 en g=ferd &

(2) U SR SRl Twigdl i fasn! wrdl @l

(3) T wE Wl feerel Wsiel F i qoy § gyl g €
(4) Tt SFTE ST TGy w1 {7 a9 fer S ¥

Options:-

.1, Option ID :- 485,
. 2, Option ID :- 486,
» 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123




Read the following statements and choose the correct option.

(A) Weavert's cooperatives are one way fo reduce the dependence on the merchant
(B) And to earn a higher income for the merchant

Opﬁons 2

(1)
(2)
(3) Both
(4)

A) is true
B) is true

(A) and (B) are true
Both (A) and (B) are false

y(
y(

Trefefiad sami =1 u¢ 2R el foshed 94|
(A) : FRU I TEhRl GEA SATIE & L fFA9Ra #9 F 1 UH WY ©
(B) : i A &t et agr i S §

farenea

(1) Fae (A) T &

(2) e (B) TEl ©

(3) i (A) SR (B) W E
(4) 2Fi (A) ¥R (B) TOR §

Options:-

.1, Option ID :- 489,
. 2, Option ID :- 490,
. 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124

Read the statements (A) and (R) and choose the appropriate option.

Assertion (A) : No country can be said to be completely democratic.

Reason (R) : Individuals and communities always try to expand the idea of democracy.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false




Tr=tfafaa el (A) 2R (R) =1 9feq d1 3ugw fashed =1 == shifed |
AR (A) :  Tordl off 20 =1 T T 9 cAiewdiiien T2l el S Hehal |
WHRT (R) : =t 3R THE™ Had das i A0 5 S 1 JAH Hd ¢ |
faency -

1) (A) 3R (R) S 9@ € 991 (R), (A) 1 HE SR 2 |

2) (A) 3R (R) SFT T § AfFT (R), (A) i T = 76 €
3)

)

4

(
(
(3) (A) W&l & 9% (R) Terd ¥
(4) SFT (A) T (R) T B
Options:-

.1, Option ID :- 493,

. 2, Option ID :- 494,

. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

Gender inequality needs to be dealt with at
(1) Family level only

(2) Family, society and government levels
(3) Government level only

(4) Family and society levels

STt HHHA 1 G o T P AL hl S E
(1) e 9ER

(2) AR, HEE SR WER

(3) IR HEHN

(4) URAR AR THS
Options:-

.1, Option ID :- 497,
. 2, Option ID :- 498,
. 3, Option ID :- 499,

- 4, Option ID :- 500,
Answer Given:- 4, Option ID : -500

Question ID:- 126




Which one of the following is NOT a Fundamental Right ?
(1) Right to freedom of religion
2 Right to constitutional remedies

(2)
(3) Right to property
(4)

4 Avai]jng elementary education

Tr=fatad 9 9 1 |1 Hifersh AfmE T8 &7
(1) e sl &1 sTfEsR
(2) HAHUIF 3TER F AIHR
(3) wHufd =1 AfaER

(4) wifeR foran wew e

Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127

The provision of Midday Meal Scheme in schools is extension of which of the fundamental
rights granted to Indian citizens ?

(1) Right to equality

(2) Right to life
(3) Right against exploitation
(4) Right to freedom of religion

Whall H WG WIS Sl A &1 W HEfaiad § 9 RdE ARl sl wrd e Hifas
siferepr o1 foram €7

(1) HHHdT =1 SAfEEHR

(2) Sirer 1 AR

(3) i % feeg SR
(4)  *fHeR A 1 STHHR

Options:-

.1, Option ID :- 505,
. 2, Option ID :- 506,
. 3, Option ID :- 507,




. 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Question ID:- 128

The phrase ‘Justice delayed is justice denied’ refers to which of the following problems of
the justice system in India ?

(I) Red tapism in bureaucracy

(2) Inordinate delay in completion of trial by judiciary
(3) Long system of appeals going through various levels
(4) Grant of bail to the accused

‘T § =l A SHIE 1 ool A8 Hedsl YRd o1 I Zae | e efafed 9 9 few
YHE 1 ST ?

(1) FArwTeel § arerhiaremer

(2) =IETERl R YAAE T w1 H ST S8 B

(3)  eict 1 Tl ST S T o AR el €

(4) ST SHET S <A

Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

« 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129

The Forest Rights Act (2006) is a law which recognizes the rights of
(A) Forest Dwellers

(B) Scheduled Tribes

(C) Paper Mill Owners

(D) Animal rights activists

Choose the correct option from the codes given below.

(1) (A)and (D)

(2) Only (A)

(3 (A)and (B)

(4) Only (D)




2006 H &N g1 39 ifushr sifufm uw tE e ' S o st 1 gfAfead
FA B

(A) STamE

(B)  STIHIeR TSI

(Q) YaiHe mferh

(D) SiFeR SAfesh ek

== fgu U el H | wEt fashey 1 997 i
(1) (A) 3R D)

(2) FE (A)

(3) (A) ¥ (B)

(4) = (D)
Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

Marginalisation is often associated to experiencing which of the following conditions ?
(A) Disadvantage

(B) Discrimination

(C) Equality

(D) Pride

Choose the correct option :

(1) (A) & (B)

(2) (&), (B) & (©)
3 (A) & (©)
(4) (A) & (D)




frefefaa o 9 forg feafa 1 s/ya &0 & w1y afvare ye: e g g2

(A) &AYE/s=A

(B) WewE

(C) HHM

(D) T

el faey =1 =999 Hifse
(1) (A) ¥R (B)

(2 (A), (B) 3R Q)
(3) (A) ¥R (Q)

(4 (A) ¥R (D)
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 1, Option ID : -517

Question ID:- 131

is not included as one of the topics in social science at the middle level.

(1) Psychology

(2) Geography

(3) History

(4) Political Science

qraifees foam § w fawg & &9 9 qreafgs @i ™ gftafed 78 g
(1) HAIfeH
(2) T
(3) sfae™
(4) UsHifas fasm

[ B]

Options:-

.1, Option ID :- 521,
. 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 1, Option ID : -521

Question ID:- 132




Historical studies help in development of
(1) Spiritual domain

(2) Cognitive domain
(3) Psychomotor domain
(4) Economic domain
e s1erem % faspm § 7eg F:3 2
(1) eneATfeaes 941 o &
(2) IR 98 % W
(3) HAITRATHS T8 % W
(4) e 98 & W
Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133

In a geography class, the teacher could help students detect specialized regions by engaging
them in the following.

(i) identifying and recording certain characteristic features
(i) studying map

(iii) locating information on a map

(iv) using encyclopedia

Options :

(1) (), (i) and (iv)

(2) (1), (ii) and (iii)

(3) (), (i) and (iv)
4 (

4) (i), (iii) and (iv)




et it el H, foeres fadifia &6 o1 g & oo farnfeldl =0 Frofafes F dfeam w0 % g
3| HETFdl L Hehdl ©

() Fo fafere faemmes ® ggary 3R e wE

(i) HEE = FAEIT HEH

(iv) Taearen™ =1 3TERT
faeea :

(1) (@), (i) 3R (iv)

(2) (i), (if) AR (i)

(3) (), (i) R (iv)

(4) (i), (i) 797 (iv)
Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 1, Option ID : -529

Question ID:- 134

Arrange the following stages of problem solving in order.
(i) Evaluation and review

(i) Making an action plan and implementing it

(iii) Problem formulation and interpretation

(iv) Generating ideas and options

Options :

(1) (i), @v), (@), (1)
(2) (i), (i), @v), ()
(3) (), (i), (i), ()
(4)  @v), (), (1), @)




freforfaa Taen gaem & T S 98 w0 § goafier s

(i)  HERT S TS
(i) TS S SR A A
(ifi)  THEAT T YA SR AT FEA
(iv) foemi iR famed &1 o= e
faereT :
(1) (i), (iv), (i), (1)
(2) (i), (i), (iv), (1)
(3) (), @), (iid), (i)
(4)  (iv), (iii), (i), (i)
Options:-

.1, Option ID :- 533,

. 2, Option ID :-
. 3, Option ID :-

. 4, Option ID
Answer Given

534,
535,

:- 536,
:- 3, Option ID : -535

Question ID:- 135

Suppose you wish to use “simple to complex” approach to organise curricular topics.
Choose the appropriate option arranging them in the appropriate sequence.

(i) living in a family

(i) forest regions of India

(iii) family in neighbourhood

(iv) communities existed long ago
Options :

(1) (), @), (v), (i)

(2) (), (1), (i), (iv)

(3) (@), (i), (@), (iv)

(4) @), (i), (), (@)




HH ST 2179 oXa | Sifeat”! SURTH | qraEeEl Sl geratied e 9 €1 A 5 suge
HATHH H oL UG fasheq @1 =8 i

(i) URERH @

(i) WG % a7 &

(i) WS H 9fEr

(iv) & Teed F I
faenca :

(1) @), @), (), (i)
(2) (i), (i), (i), (iv)
(3) (@), (i), (i), (v)
(4) (@), (i), (iv), (i)

Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
. 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 4, Option ID : -540

Question ID:- 136

Which of the following maps will you use to show the natural features of the earth in
class ?
(1) Physical Map

(2) Political Map
(3) Thematic Map
(4) Natural Map

Trefafad amf==i § 9 $F 9 AFteEs &1 39 e | Y i Wihiae favrsars @i g9l * fou
IYIA T ?

(1)  ifaer amfaE
(2) ST AT
(3) FEEReh (ofiifew) Amfa
(4) Ykl AEf=
Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,




« 4, Option ID :- 544,
Answer Given:- 2, Option ID : -542

Question ID:- 137

A social science teacher wants her students to inquire about the condition of health facilities
in their area. Which of the following would find place in her lesson plan ?

(A) Organizing a visit to local health centre

(B) Discussion on why government should provide health care for poor
(C) Showing data on malnutrition among children world wide.
Options :

e wrEfes fagm & fafaen stom faenfefal § o7 o199 43 o ey glawsd € g w §E"
HaE =GEdt g1 Fefataa § @ ST ae Qe § o e O S 8 2

(A) TFT W@ &g § 9H I SARESH
(B) HIHNR Tl T =l TS HATU 1 SUGTe Al HMEY — 39 T == ol AESH
(C) W faga & o= # 9@ S 9 FUE F e @

ferercq :

(1) @i (A) 720 (B)
(2) =F (B) @ (C)
(3) @I (A) 991 (Q)
(

Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 4, Option ID : -548

Question ID:- 138




A social science teacher planning to discuss the topic ‘social justice and marginalisation’.
Which of the following are the most appropriate learning outcomes ?

(A) students understand concept of marginalization

(B) students understand how judiciary functions in daily lives

(C) students recognize how marginalization takes place in the real lives
(D) students recognize how social justice is denied and to whom
Options :

(1) (A) (B) & (O

(2 (B).(C) & (D)

3 (A, (O & (D)

(4 (A) (B) & [D)

greTfeeh fasm =1 Ueh freres  grrferes = S erfvraresr’ faug w99 &30 St S a1 | |
Frfafad § 4 & ¥ gaifusw sugs aftrm yfawa €2

A)  faemeff v it sEuwon # gae §)
B) &f Siaa o =mrmfesr F8 Fr st € fanedt o awen )
C) fomnefl vg=ra € fo arafas S o eifvramsro S48 8 €

(
(
(
(D) foemeff s € fop fop ol 58 gmiferes =1 sredihd foham <imam €)

5

1
2
3)
4

(1)
(2)
(
(

Options:-
.1, Option ID :- 549,

. 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

Answer Given

550,
551,

552,
:- 3, Option ID : -551

Question ID:-

139




‘I live in a Muslim dominant area. My brother and I had gone for an Iftar party in the
neighbourhood and were dressed in traditional clothes, that is sherwani and salvaar kameej
respectively. Later we changed our clothes to jeans and T-shirt'.

How do you view this narrative of a girl ?

(A) Clothes can be seen as a marker of identity

(B) We may be prejudiced for the clothes we wear

(C) Clothes should be worn for comfort and as per occasion
Option :

(1)  (A) and (B)

# s gfey g &3 § wdl €1 H iR 70 i€ vSm § & TR i U <Ed § T g &R
T{RAT TS AT SRHY: INEH! U6 HeAar-HHs U84 W 9 | 96 H g9 371 FHUe deeieht Sid
AR I1-E e faT | 3977 39 TSh! & I Bl Y ST & 7
(A) IS FI TEEH & NI % T H o @1 S TR 7
(B) 9 S S UEd & ITeh] ofht &9 YSIUET & Fehd € |
(C) SISl 1 M % AU T dih o SATER a1 =t |

Options:-

.1, Option ID :- 553,
. 2, Option ID :- 554,
« 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 4, Option ID : -556

Question ID:- 140




Which of the following questions promote critical thinking among students ? Choose the
appropriate option.

(A) Explain the formation of Himalaya and Ganges river system.

(B) What are the merits and demerits of multi party system ?

(C) What are the suitable conditions to establish iron and steel industry in
Jharkhand ?

(D) Give three differences between the way villages are managed today and in time of

mahajanapadas.
Options :
(1) (A) & (B)
(2 (B) & (D)
(3) (B)&(©
4 ©&(D

freafafed 4 9 o6 ool § 360 & s fagem 1 diedres fierd @ 2 39w fashed 97 |
(A) Temmera qen i €t Syewe & F9 ohi Ylshdl shi SHEA i |

(B) EE-Seld SHEE % TV IR STV - € ?

(C) @Ee ¥ 3o SR Wie Sur wifid e &t i fefast SR-om 9 8 2

(D) =TST o el 3R WSS & HHY @ Tid] i Fe 4 b9 Siad i = |

%

(1
(2
(3
(4

A)

0

a 2 A g
£ 8 5 £
o =

Options:-

.1, Option ID :- 557,
. 2, Option ID :- 558,
. 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 4, Option ID : -560

Question ID:- 141




Read the following statements (A) and (R) and choose the correct option :

Assertion (A) : Branding means stamping a product with a particular name or sign, so
as to differentiate it from other products in the market.

Reason (R) : Branding came from cattle grazing where owners thought of marking
their cattle to avoid mix up.

Options :
(1)  Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) Both (A) and (R) are false

Tretafaa =l (A) 3R (R) 1 9feu qon 9&t foeweq =1 =29 Hifag|

afirerem (A):  difeT &1 o1dd ¥ forelt seae R ot fadie s =1 forg =1 Hiet o aifer T
IS = SR A FEferd 3 Sedrel § ster (fue) fed

AT (R): “FifE’ =1 ‘I TYUIe i SR ¥ W U Y & W miferent 3 gl W
e i TS %l L R ok ferd s19a1 @ forg e 61 | |

faeney -

(1) (A) 3R (R) S T&T & 9201 (A) & (R) WET =AW o & |

(2) (A) 3R (R) SFI W& ¥ AfeFT (A) & (R) Wl AT & FIA 2 |

(3) (A) TE & @fepA (R) 7Terd B |

(4) (A) @R (R) S Tord T

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 1, Option ID : -561

Question ID:- 142




Consider the following statements (A) and (R) and choose the appropriate option.

Assertion (A) : Thereis aneed to decentralise the development of social science curricular
materials in which teachers, students and community members introduce
their own realities.

Reason (R) : Decentralisation enables students of different regions and social groups
to relate to the social science curricular materials they work with.

Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

frfafaa sweAr (A) 991 (R) W foar ¢ 3l =@ fasweq =1 == +i|

WA (A) : gifes fam amfiE & faemm &1 fashdia & #1 S8 § 58l (e,
Teremeft 2iR UHE™ % WS S9! ArEfashasl sl TEd F |

HIT (R) : foshdient fafvm &= iR arfss wgEl ¥ e faenfeli =it fom amfes
o TreT=El 9mfuE &% WY 9 H9 H § SAF 919 SeHl 9@ § gead
TN

faaey -

(1) (A) R (R) ¥ W&l § 31 (A) F1 (R) Fel AR L 2 |

(2) (A) 3R (R) <1 9l € wfeh (A) F1 (R) &I AT & I 2 |
(3) (A) T & wfRA (R) T B

(4) (A) & (R) 2 ToE

Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
« 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 1, Option ID : -565

Question ID:- 143




Consider the following statements (A) and (R) and choose the correct option.

Assertion (A) : Traditionally social science curriculum accommodated gender concerns
by mcludlng ‘examples’ of women.

Reason (R) : Making the perspectives of women integral to the discussion of any
historical event or contemporary concerns is inevitable.

Options :

(1) Both (A) and (R) are true

(2) Both (A) and (R) are false

(3) (A)is true but (R) is false

(4) (A)is false, (R) is true

FrefafEad waet (A) 91 (R) R foar 1 3R w8 fashes &1 597 & |

HOA (A) :  TWEE &9 F HEifses fom uesE | Se Hetdt gE o+ geaEee | fedi o+
TR 1 InfHe Fd ¥

HROT(R) : Tl off Ufaeifees s @ik S 98 &1 == § Sfi-uiies &l Thisd
FLA I AEIHA E |

faerea -

1) (A) #R (R) S HE T

2) (A) 3R (R) S TTed g

3)  (A) ®EI § dfeh (R) Ted 71

4) (A) TTed § @ifed (R) & B

(
(2
(
(

Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
« 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144




Which of these is/are example(s) of secondary sources ?
(A) Scholarly journals

(B) Biographies

(C) Diaries

(D) Photographs

Options :

(1) (A) only

(2 (A) & (B)

(3) (A), (B) & (O)
(4 (B) & (D)
374 A i fgdteer Hid o SRt ' 2
(A) TagEl 1 uf@Re
(B) cHEHAT

(C) =&

(D) =R

faeea ;

(1) s (A)

(2) (A) R (B)
(3) (A), (B) ¥R (O)
(4) (B) #R (D)
Options:-

.1, Option ID :- 573,
. 2, Option ID :- 574,
. 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

For doing a project on freedom struggle at the middle level, which of the following may be
least essential ?

(1) Photographs

) Important Quotations of Freedom Fighters

(3) Sources from which the information was collected
) Questionnaire based collection of data




HreAfes (fafee) SR W A S0 % SR T 9S4 % fog fefafes 5 9 260 @
<JAqH ®9 4§ A 8 §eha € 7

(1) =

(2) EEGs HAAT <6 HEw gl 3gul
(3) = & o & g=e g i
(4) UeAEE! 9T AU ikl Fl HUB
Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

Question ID:- 146

Agencies approved by which of the following is/are expected to develop evaluation
procedures as per RTE Act 2009 ?

(A) Union Government
(B) State Government
(C) Local Government
Options :

(1) Both (A) and (B)
(2)  Either (A) or (B)
(3) Only (A)

(4)  Only (B) & (O)

FAE. TR-2009 & AR Fefafad § § & o deendensii § qeis wwel i fasiad
T T YT T ?

(A) 5 &R

(B) T HIHN

(C) AT TR

faerey -

1) (A) @R (B) a4

Options:-




.1, Option ID :- 581,
. 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

The assessment cycle of a class or school begins with and ends with
(1) Formative assessment & summative assessment

(2) Placement assessment & summative assessment

(3) Diagnostic assessment & formative assessment

(4) Formative assessment & placement assessment

Toret =pem =1 faeme™ &1 STeReT =k F Y BaT ® 2R

) Fmimere seRe SR AN ST E
(2) TS ATRE SR AT SR

(3) e st 2R e swehe
(4) TR SR SR A SR

Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 3, Option ID : -587

T GHE B

Question ID:- 148

A purposeful collection of student’'s work can be considered as

(1) a report card
(2) a portfolio

(3) an assignment
(4) a rubric




ferreri & Sl & dievy gy &l HET ST bl & |

(1) e &
(2) ORI
(3) T wd (stEiEHe)
(4) wfem
Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149

A social science teacher wants to evaluate whether her students to have understood the
concept of population pyramid or not. Which of the following could help her ?

(A) They can read and interpret population pyramid.
(B) They can prepare a population pyramid with the given data.
(C) They can infer about employed people with the help of population pyramid.

[risTes o i T TIfarest a8 qediieha sl =redl & T 0 et 3 sqeen fuafas &
Hyerg =1 Ay feen T i 2 e 8 9 9 gers d g 2

(A) o SAHE fufae &1 ug 9 €, 31T 39! SAreA] & 9ehd ¢ |

(B) fou v sirhel & Smum W smyeE fuufie s g )

() SHHen fuufig it gemd 9 3 TSR § & Sl o o) H STHM @ §9hd 2 |
faeney -

(1) e (A) T (B)
(2) e (B) 99T (C)
(3) HEA (A) T (C)
(4 (A), (B) 71 (C)
Options:-

.1, Option ID :- 593,




« 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594

Question ID:- 150

Which of the following questions assess the analysis skills of learners ?
(A) If all glaciers of Himalayas melt down, what are its impacts on human life in India?
(B) How we file a case in consumer forum court ?

(C) What is Finance Commission ? Describes the main functions of the state finance
COmMmMissions.

(D) Why national integration is necessary in India ?

Options :

(1) Only (A), (B) & (O)
(2)  Only (B), (C) & (D)
(3) Only (A) & (B)

(4)  Only (A) & (D)

fefarfaa § & #9999 sifermeratell & faveismr s & e 1 el € 2

(A) SR feamera 1 eft femmel faore sTe @ wa & oFg Sied W 38R 1 99E 2 2
(B) &H IUHITH = § Y ¥ iEel il /

(C) ot s =7 % 2 U fo o9l & 9 STl = 9viF ahifena |

(D) RG H WFTT Tehishlo Fi STE9TF @ 2

faenea -

(1) & (A), (B) 3 (C)
(2) 9 (B), (C) ¥R (D)
(3) I (A) ¥R (B)
(4) = (A) ¥R (D)
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 4, Option ID : -600

Subject : HIN_Q91-99_L1_P2_CTET

Question ID:- 181




fow T wmEnyr @t seadeE afew wur B T wyR it Suded faswmen g

A UH SFAHA IEH 1 HFA A9 WSt At ¥ Washl 79 g widl §, SEfeh g i
g et #r o=st =&l Tt | Aot 3 fomn me e g 2 HiSt 9t 1 guE Sga S B
21 TSt it F widt wf fag & 9 €1 9y Sier diet S EArS | o9gd e 2T € | HYRT o6
a9 Feohel Ush-UsF 958 YA S16 & A I gl § | 35 WU H 2T Sren SAfH I6H 99 §
B S ¥ | HIST it et A ATl S E SIErGd Tl it S Se arel o o STe vgEm 7
Jordt = el 2- S g= F g Sueid =% SR | ggurdt gare § Gl 1 HER A 1 e
AT et dTet 3l 3779 TR ot g1 Sl uedt § | TR efa & fau & e & - Eii e
12 o, Aferad A o | fer wed gEa $, Jfedd 98 Terd |’ e 9T 1 w46 1 Fi famg
A1 T | T W Al 79 €, 9l g STt faw &1 st off T - CueR 9= & ofefy, e g9
g

FIE IR AT H AR F AR R

(1) @

(2) =i

(3) FIER

(4) HH

Options:-

.1, Option ID :- 721,

. 2, Option ID :- 722,

. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 2, Option ID : -722

Question ID:- 182




fow T wmEnyr @t seadeE afew wur B T wyR it Suded faswmen g

A U SFH aEH &1 wEe A9 WS G & g 79 & odl €, e i
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering from its effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic growth-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

“The international community must commit to righting that wrong”.

The “‘wrong action” being referred to here has led to :

(1)

[F0 I ]

(2)
(3)
(4)

s

Climate change
Unsustainable development
green growth

Carbon revolution

Options:-

.1, Option ID :- 1201,
. 2, Option ID :- 1202,
. 3, Option ID :- 1203,

. 4, Option ID :- 1204,
Answer Given:- 1, Option ID : -1201

Question ID:- 302




Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

) i Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering from its effects. The international
community must commit to righting that wrong.

2.  We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

3.  Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

4,  Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

5. We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

“The richest countries caused the problem, but it is the world’s poorest who are already
suffering from its effects.” Which of the following is the problem caused by the richest
countries ?

(1) Disruption of peace.

(2) Higher emissions leading to global warming.

(3) Imprudent use of natural resources.

(4) Higher consumption of food grains leading to droughts.
Options:-

.1, Option ID :- 1205,
. 2, Option ID :- 1206,
. 3, Option ID :- 1207,

. 4, Option ID :- 1208,
Answer Given:- 2, Option ID : -1206

Question ID:- 303




Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1,

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering from its effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Development said, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

What does the phrase "gray and dull” in the last para mean ?

(1)

= L2 2

(2)
(3)
(4)

anything which is not very clear.

without proper lighting.

deprived of technological advances and comforts
anything which is not attractive.

Options:-

.1, Option ID :- 1209,
. 2, Option ID :- 1210,
. 3, Option ID :- 1211,

. 4, Option ID :- 1212,
Answer Given:- 1, Option ID : -1209

Question ID:- 304




Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1. Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering from its effects. The international
community must commit to righting that wrong.

2. We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

3.  Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

4.  Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Development said, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can resultin a low carbon revolution for the 215t century
that is sustainable and equitable.

5.  We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

According to UN Commission, how can productivity be raised for better economic
growth ?

(1) by growing different crops.
(2
(3
(

) by growing fodder for livestock.
) by creating more jobs.
)

=

by letl:ing women use their skills and talents.

Options:-

.1, Option ID :- 1213,
. 2, Option ID :- 1214,
. 3, Option ID :- 1215,

. 4, Option ID :- 1216,
Answer Given:- 4, Option ID : -1216

Question ID:- 305




Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1. Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering from its effects. The international
community must commit to righting that wrong.

2.  We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

3.  Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic grow th-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

4.  Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Development said, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can resultin a low carbon revolution for the 215t century
that is sustainable and equitable.

5.  We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Read the following statements marked as Assertion (A) and Reason (R). Choose the
most appropriate option.

Assertion (A) : A future where economic growth is inversely proportional to greenhouse
gas emissions is quite possible.

Reason(R) : Use of solar panels, LED lights, sustainable agriculture, improved cooking
stoves contribute to low carbon environment.

(1) Both (A) and (R) are correct and (R) is the correct reason for (A).

(2) Both (A) and (R) are correct but (R) is not the correct reason for (A).
)

(4)

(A) is correct but (R) is incorrect.
Both (A) and (R) are incorrect.

Options:-

.1, Option ID :- 1217,
. 2, Option ID :- 1218,
. 3, Option ID :- 1219,
. 4, Option ID :- 1220,




Answer Given:- 2, Option ID : -1218

Question ID:- 306

Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

) P

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic growth-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Which word in para 2 of the passage means the same as ‘perseverance’ ?

(1)

[SEINN )

(2)
(3)
(4)

=

unpredictable
resilience
incredible
impact

Options:-

.1, Option ID :- 1221,
« 2, Option ID :- 1222,
. 3, Option ID :- 1223,

. 4, Option ID :- 1224,
Answer Given:- 1, Option ID : -1221

Question ID:- 307




Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1.  Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering fromits effects. The international
community must commit to righting that wrong.

2. We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

3.  Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic growth-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

4.  Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Development said, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

5.  We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Which of the following words is opposite in meaning to the word, ‘recession’ in para 4 of
the passage ?
(1) advance

(2) success

(3) rebellion

(4) inflation
Options:-

.1, Option ID :- 1225,
. 2, Option ID :- 1226,
. 3, Option ID :- 1227,

. 4, Option ID :- 1228,
Answer Given:- 3, Option ID : -1227

Question ID:- 308




Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1

Climate change is a matter of concern. The richest countries caused the problem,
but itis the world’s poorest who are already suffering from its effects. The international
community must commit to righting that wrong.

We know that in continents like Africa women are responsible for 60-80% of food
production. Unpredictable growing seasons and increased incidence of droughts
and floods place women, their families and their livelihood at risk. All over the
world, women are adapting to these changes, showing incredible resilience in the
face of crop failure, water shortage and an increase in environment-related diseases.
They are growing different crops, planting trees, harvesting rainwater and growing
fodder for livestock to minimize the impact of climate change.

Women understand the inter-generational aspects of climate change and sustainable
development. We also need to see the value of women as drivers of economic growth-
as educators, curers, farmers, entrepreneurs and above all, as leaders. Productivity
will be raised if their skills and talents are used more fully.

Clearly we need to harness the contribution of women if we want to find our way
out of the current economic recession and if we want to embrace inclusive, sustainable
green growth. UN Commission on Sustainable Developmentsaid, “In many countries
women are the champions of the green economy, practicing sustainable agriculture,
nurturing our natural resources, and promoting renewable energy.” Their voice and
leadership on climate change can result in a low carbon revolution for the 215t century
that is sustainable and equitable.

We can have a future where economic growth is not proportional to greenhouse gas
emissions. Solar panel, improved cooking stoves and LED lights can transform lives,
create jobs and contribute to our collective low-carbon future and are clear examples
of how intelligent climate change policies do not lead to a gray and dull existence
but the opposite : they lead to a brighter future.

Which part of speech is the underlined word in the given sentence ?

‘We need to harness the contribution of women.”

Modal

Verb
Conjunction
Preposition

Options:-

.1, Option ID :- 1229,
. 2, Option ID :- 1230,
. 3, Option ID :- 1231,

. 4, Option ID :- 1232,
Answer Given:- 3, Option ID : -1231

Subject : ENG_Q129-135_L2_P2_CTET

Question ID:- 309




Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1 If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

2. Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

3.  Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

4, Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held
high......”

5.  Pear is the root of all evils. Change the mental attitude and life becomes pleasant.

According to the passage, which of the following statements does NOT hold true ?
(1)  The executors of Jesus Christ have been forgotten.

) Gandhiji was a fearless leader.

) Fear is the root of all evils.

) Menially dwarfed will die with pride.

(ST )

(
(
(
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Options:-

.1, Option ID :- 1233,
. 2, Option ID :- 1234,
. 3, Option ID :- 1235,

. 4, Option ID :- 1236,
Answer Given:- 4, Option ID : -1236

Question ID:- 310




Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1: If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

2.  Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

3.  Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man,

4, Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held
high......”"

5.  FPear is the root of all evils. Change the mental attitude and life becomes pleasant.

Who live eternally ?
(1) Who suffer and die for a cause.
Who are conquerers

03 KD

(
(
(

)
) Who are unsung
) Who are disciplined

e

Options:-

.1, Option ID :- 1237,
. 2, Option ID :- 1238,
. 3, Option ID :- 1239,

. 4, Option ID :- 1240,
Answer Given:- 1, Option ID : -1237
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

T

5,

If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held
high......"

Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Find the most appropriate combination that expresses all negative traits of a person, in
Light of the passage.

(A)
)

D)

[

23
—— et e e

(B
(@)
(
(
(
(3
(4

unwept, unsung, and unhonoured people
fearlessness, courage, determination

stoning the houses, burning trains, killing people
ambition, conviction, humanity

(B) and (C)

(A) and (B)

(A) and (C)

(A) and (D)

Options:-

.1, Option ID :- 1241,
. 2, Option ID :- 1242,
. 3, Option ID :- 1243,

. 4, Option ID :- 1244,
Answer Given:- 1, Option ID : -1241
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1: If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

2. Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

3.  Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

4, Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held
high......”

5.  Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Who are the “salt of the earth’ ?

(1) Intellectually empty men

) Fearless in the midst of tortures
) Who lack spirituality

) Invaders
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Options:-

.1, Option ID :- 1245,
. 2, Option ID :- 1246,
. 3, Option ID :- 1247,

. 4, Option ID :- 1248,
Answer Given:- 2, Option ID : -1246

Question ID:- 313




Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1 If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

2. Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

3.  Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

4, Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held
high......"

5.  FPear is the root of all evils. Change the mental attitude and life becomes pleasant.

Which part of the following sentence contains an error ?

It is only when a man has the readiness to suffer and dies
(A) (B)

to a cause that he will live eternally in the minds of men.
(©) (D)

(1) (A)

(2) (B)

® ©

4) (D)

Options:-

.1, Option ID :- 1249,
. 2, Option ID :- 1250,
. 3, Option ID :- 1251,

. 4, Option ID :- 1252,
Answer Given:- 4, Option ID : -1252
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1: If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

2. Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

3.  Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

4, Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held
high......”

5.  Fear is the root of all evils. Change the mental attitude and life becomes pleasant.

Which of the following words means the same as the word, ‘justification” in the passage ?

(1) conviction

(2) vindication
(3) ambition
(4) determination

Options:-

.1, Option ID :- 1253,
. 2, Option ID :- 1254,
. 3, Option ID :- 1255,

. 4, Option ID :- 1256,
Answer Given:- 4, Option ID : -1256
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the given one.

1 If you want to leave footprints on the sands of time, you must know how to live,
suffer, and die for your convictions. In one word, you should be fearless till death
for vindication of truth. All great and good men, whom the mass of humanity worship
now, were fearless. They did not hand down fear to succeeding generations.

2. Jesus Christ was fearless, having a strong will power. The executors have been
forgotten; the executed is still hailed and praised in songs after a thousand years.
Gandhiji was fearless. He instilled the need of fearlessness in the minds of young
and old.

3.  Menially dwarfed spiritually and intellectually empty men have lived and died like
ants. Nobody notices them. But people who stand for a cause and are fearless in the
midst of bullets and tortures are the salt of the earth. They always conquer. It is
only when a man is willing to suffer and dies for a cause that he will live eternally in
the minds of men. Those who do not know how to live will die unwept, unsung and
unhonoured. They come and go away without being noticed by others. Fearless,
however is not stoning the houses, burning the trains, looting the banks or killing the
common man.

4, Instill in everybody the seeds of courage, ambition, and determination and then,
with Tagore they will sing “where the mind is without fear and the head is held
high......”

5.  FPear is the root of all evils. Change the mental attitude and life becomes pleasant.

Which part of speech is the underlined word in the given sentence ?
“The individual who thinks must convert the mob........”

(1) Noun

(2) Adjective

(3) Adverb

(4) Verb
Options:-

.1, Option ID :- 1257,
. 2, Option ID :- 1258,
. 3, Option ID :- 1259,

. 4, Option ID :- 1260,
Answer Given:- 4, Option ID : -1260

Subject : ENG_Q136-150_L2_P2_CTET

Question ID:- 316




The long list of words for any language is termed as
(1) Morpheme

(2) Phoneme
(3) Lexicon
(4) Pragmatics

Options:-

.1, Option ID :- 1261,
. 2, Option ID :- 1262,
. 3, Option ID :- 1263,

. 4, Option ID :- 1264,
Answer Given:- 4, Option ID : -1264

Question ID:- 317

A teacher wants to conduct an activity “Three step Interview” in the class and for that
she asks the students to work in pairs. In the first step one student is interviewer and
other is interviewee. In the second step, students reverse their roles. In third step each

share with her / his partner what she / he learned during the two interviews. Here the
teacher is conducting

(1) Community based teaching

(2) Cooperative teaching
(3) Content based teaching
(4) Communicative language teaching

Options:-

.1, Option ID :- 1265,
. 2, Option ID :- 1266,
. 3, Option ID :- 1267,

« 4, Option ID :- 1268,
Answer Given:- 4, Option ID : -1268

Question ID:- 318

In the class VIII a teacher presents new material in dialogue form and structural pattern
by using repetitive drills. Here which of these methods is adopted by the teacher to present
the material ?

(1)  Audio-lingual method

(2) Classical method
(3) Series method
(4) Direct method

Options:-

.1, Option ID :- 1269,
. 2, Option ID :- 1270,
. 3, Option ID :- 1271,




. 4, Option ID :- 1272,
Answer Given:- 4, Option ID : -1272

Question ID:- 319

Consider the statements (A) and (B) regarding “Natural Order Hypothesis”--—-
(A) Errors are signs of naturalistic developmental processes.

(B) During acquisition, similar developmental errors occur in learners in spite
of any native language.

(1)  (A) is true, (B) is false.

(2) (A) is false, (B) is true.

(3) Both (A) and (B) are true.

(4) Both (A) and (B) are false
Options:-

.1, Option ID :- 1273,
« 2, Option ID :- 1274,
. 3, Option ID :- 1275,

. 4, Option ID :- 1276,
Answer Given:- 3, Option ID : -1275

Question ID:- 320

In a classroom, a language teacher organizes an activity entitled. “Window shopping in
Sarojini Market”. In this activity students are instructed to negotiate in English language.
Here the teacher is following :

(1) Structural Model
2) Cognitive Model

) Interactional Model
)

w3

( Lexical Model.
Options:-

.1, Option ID :- 1277,

. 2, Option ID :- 1278,

. 3, Option ID :- 1279,

. 4, Option ID :- 1280,
Answer Given:- 2, Option ID : -1278

Question ID:- 321

In a classroom a teacher is instructing the students to go back to the text and re-read those
lines and words which they didn't understand. Here, which one of these steps she/ he is

applying :
(1) Focusing

(2) Clarifying
(3) Predicting
(4) Questioning




Options:-

.1, Option ID :- 1281,
. 2, Option ID :- 1282,
. 3, Option ID :- 1283,

. 4, Option ID :- 1284,
Answer Given:- 2, Option ID : -1282

Question ID:- 322

Multilingualism can be promoted by :

I) Citing examples of different languages

IT) Giving all languages equal importance

III) Promoting cooperative learning in the classroom

) (1), (II) and (I1T)

2) (I, (I) and (IV)
) (1), (IV) and (1)
)

(
(
(
(IV) Prohibiting code-switching in the classroom
(
(
(
4) (D), () and (IV)

Options:-

.1, Option ID :- 1285,
. 2, Option ID :- 1286,
. 3, Option ID :- 1287,

. 4, Option ID :- 1288,
Answer Given:- 1, Option ID : -1285

Question ID:- 323

Being a language teacher if you conduct “need analysis” of your learners then for what
purpose the obtained information may be used

(I)  Selecting the content
(II) Grouping the learners
(IIT) Designing the classroom activities
(IV) Identifying good and poor learners
1, (H) and ()
(2) (1) ) and (IV)
(3) (I]I IV) and (I)
(4) (@, () and (IV)
Options:-

.1, Option ID :- 1289,
. 2, Option ID :- 1290,
. 3, Option ID :- 1291,

. 4, Option ID :- 1292,
Answer Given:- 1, Option ID : -1289




Question ID:- 324

During an open house discussion the students of class X are sharing their views with the
students of class IX. The Students of class IX and X are getting benefit from each-other.
Hence according to Vygotsky in which type of speech they are involved in ?

(1) Private speech
Social speech

L3 K

(2)
(3) Inner speech
(4)

e

Ego-Centric speech

Options:-

.1, Option ID :- 1293,
. 2, Option ID :- 1294,
. 3, Option ID :- 1295,

. 4, Option ID :- 1296,
Answer Given:- 2, Option ID : -1294

Question ID:- 325

Arrange the process of language Learning according to community based language learning
procedure :

() Knower listens and other learners overhear
[) Knower presents learner’s message in L2
III) Learner presents a message in Mother tongue to the knower

IV) Learner repeats the message in L2

(I
(
(
(1) (D), (), (1) and (IV)
(
(3
(

)

2) (1), (mm), (T) and (IV)

3) (1), (1), (I) and (IV)

4) (1), (D), (II) and (IV)
Options:-

.1, Option ID :- 1297,
. 2, Option ID :- 1298,
. 3, Option ID :- 1299,

. 4, Option ID :- 1300,
Answer Given:- 3, Option ID : -1299

Question ID:- 326

The silent way adopts a ;
(1)  structural syllabus

) communicative syllabus

) task based syllabus

)  text based syllabus

Options:-




.1, Option ID :- 1301,
. 2, Option ID :- 1302,
. 3, Option ID :- 1303,

. 4, Option ID :- 1304,
Answer Given:- 1, Option ID : -1301

Question ID:- 327

When the words are combined to form acceptable phrases and sentences, is called as

(1) Phonology
(2) Morphology
(3) Syntax

(4) Pragmatic

Options:-

.1, Option ID :- 1305,
. 2, Option ID :- 1306,
. 3, Option ID :- 1307,

. 4, Option ID :- 1308,
Answer Given:- 3, Option ID : -1307

Question ID:- 328

In a classroom while reading the text a teacher is emphasizing the content words. It
means she is focusing over

(1) Nouns, demonstratives & conjunctions

(2) Nouns, Preposition & Arficles
(3) Nouns, quantifiers & Auxiliaries
(4) Nouns, adjectives & adverbs

Options:-

.1, Option ID :- 1309,
. 2, Option ID :- 1310,
. 3, Option ID :- 1311,

. 4, Option ID :- 1312,
Answer Given:- 4, Option ID : -1312

Question ID:- 329

words denote grammatical relations and have little semantic content.

(1) Open class
(2) Open ended
(3) Content

(4) Function

Options:-




.1, Option ID :- 1313,
. 2, Option ID :- 1314,
. 3, Option ID :- 1315,

. 4, Option ID :- 1316,
Answer Given:- 4, Option ID : -1316

Question ID:- 330

(A) Boy, love and sing are known as free morphemes.

(B) A free morpheme can stand alone as an independent single word.

(1)  (A) is right but (B) is wrong
(2)  (B) is right but (A) is wrong
(3) Both (A) and (B) are right and (B) is the explanation of (A)
(4) Both (A) and (B) are wrong.
Options:-

.1, Option ID :- 1317,
. 2, Option ID :- 1318,
. 3, Option ID :- 1319,

. 4, Option ID :- 1320,
Answer Given:- 3, Option ID : -1319
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